Object:
DEFAULT_CLIENT
Tester: MPI-540

Date of testing: 18/05/2024 10:08
Data file: Ci\Users\Rasam\OneDrive\n'onon\DEFAULT_CLIENT client

Test result:

Executive:

Evaluation = Positive

step.2.result = Correct
Mains type = TN

VisualMeasurement
step.5.query = PP (Imax) - o'73> wan unestep.S.result = Correct

step.4.query = nposin mwoen nn avn ESerial number = EK1265
Date of Measurement = 17/05/2024 09:11:51

step.1.query =2 X7 1xm nxnn A step.1.result = Correct
step.2.query = nryu X7 72iNn avna hann B
step.3.query = mwo avm onnn © step.3.result = Correct
Title = i X957 n1wo DTV RevRivt o step.4.result = Correct

RisoEVSE

Evaluation = Positive
Uan =523V
Upots =523V
Riie =>200G0
Noise! = NO

Rian =>200GQ
Unpe =523V

Upon =523V
Ruispe = >2,00 GO

Date of Measurement = 17/05/2024 09:11:51

Risn =>2,00GQ0 Un =500V

Rumn =>200GQ Uispe =523V
Uiipe =523 Y RnpPE =>2,00 GO
Upis =523V Riz2is =>2,00 G0
LIMIT I! = NO Upie =523V
Uuin =523V Ruipe =>2,00 G0
Limit = 1,50 MO Uope =523V
Riops =>2,00 GO Ruis =>2,00G0

Mains type = TN Serial number = EK1265

ZipeRCD

Evaluation = Negative
la =200 A

f=50,0Hz

Producer = GENERAL
th =58

Accessory type = EVSE
Serial humber = EK1265

Z=1,02Q Ik =158,6 A

R=1,020 XL =01100Q
U=2308V Ik =(Un)

Type = GENERAL Characteristic = C

In =20A Phase = L1

Mains type = TN Nominal voltage = 2300 V

Date of Measurement = 17/05/2024 0&:11:51

RCDAuto o

Evaluation ‘
Phase = L1

Uy =500V
profile = [EV}
Accessory type = EVSE

2 (IXDCBmMA+) =>100 s

Date of Measurement = 17/05/2024 09:11:51

tA(IxDCBmMA-}=10¢e
Up =00V Reg =000kQ

Uipe =2306V Aln =30 mA

results.1. RCD_EV_STANDARD = |[EC62Sresults.2.RCD_EV_STANDARD = [E(62955
Mains type = TN Serial number = £EK1265

EFAULT_CLIENT\DEFAULT _LOCATION\DEFAL




